L s Rl iE

T-SLOT NUTS

(ERON’

No.E-402

TAOvhFYbzvrsass)

S45C
By

ORI EBLTHURT,

BEAHRC30+5

IR

ZF—5"—No. No. BETHEND RIREE)  A£03 c D E HiEg i
32559 | TNM1210K | 12  M10x15 115 = 175 64 127 22 27 360
28548 | TNM1412K | 14 = M12x1.75 = 135 @ 222 85 158 29 51 450
28402 | TNM1612K | 16 = M12x1.75 : 153 = 254 85 158 29 63 470
32560 | TNM1614K | 16  MI14x2 153 = 254 85 158 29 59 520
41070 TNM1812K | 18  M12x1.75 = 17 286 111 191 32 102 690
32561 TNM1814K | 18  M14X2 17 286 111 - 191 32 96 720
17179 TNM1816K | 18 = M16x2 17 286 11.1 0 19.1 32 89 760
26705 TNM2012K | 20  M12x1.75 195 318 119 = 19.1 32 121 920
32562 TNM2016K | 20 = M16X2 195 318 119 = 191 32 108 950
32563 TNM2018K | 20 = M18x25 = 195 = 318 = 119 = 19.1 32 100 990
26710 TNM2212K | 22 M12x1.75 @ 21,5 360 = 142 = 254 . 38 210 1,170
15074 TNM2412K | 24  M12x1.75 @ 235 382 142 254 = 38 232 1,300

_

T-SLOT NUT MATERIALS

Tt

(EroN’

No.E-402Z2

S45C
QAN LT HIEBADT. BRICE IV TTHES
CHIFSNET
A
(&
O
L Lws Rl ES 8 E
==Kt ik
ZF—5"—No. No. BETEM: A+0.3 B C D E HBEg 1~o@ - 10BLLE

31299 TNZ10 10 9 143 6.4 12.7 22 26 220 190
31300 TNZ12 12 11.5 17.5 6.4 12.7 22 32 240 210
31301 TNZ14 14 13.5 22.2 8.5 15.8 29 64 270 230
31302 TNZ16 16 15.3 25.4 8.5 15.8 29 73 310 260
31303 TNZ18 18 17 28.6 11.1 19.1 32 112 390 320
31304 TNZ20 20 19.5 31.8 11.9 19.1 32 128 490 420
31305 TNZ22 22 215 36 14.2 25.4 38 223 730 610
31306 TNZ24 24 235 38.2 14.2 25.4 38 239 840 700
31307 TNZ26 26 249 41.3 15.8 25.4 45 309 1,010 840
31308 TNZ28 28 26.5 41.3 17.5 28.6 51 403 1,270 1,050

R—LR—IT CAD F—9IDI U VO—REEBEBRN TEEFT,

N) 7T ONA

1

L7 AN (LA I

#

I5VEVT
N—Y

FBIR—Z



	F214J_0469

